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Overview

The Xn»72 states that one who bought wine from the 2°n12, and needs to separate
n"1n from them; says, ‘two 122 which I will separate will be 7217n, ten are 1"vn,
nine are ¥"¥n, and he is ">°»' and may drink the wine immediately. There is a
dispute between *"w1 and Mo01N how to interpret the word "rnY'.

»'"'w9 explained, he exchanges the w"v» on money which he has, merely with
words, and he drinks the wine without separating the w"vn.

mooIn disagrees:
= 0IPN I YAPY 29 MYNN Yy YN ’NDYDA MIUN 703 0P 2yn1 523 NPYTT AN PPN

And this does not appear to be correct, for only regarding >xX»7 does this mwn
state in the X220, ‘and he exchanges it for money’, because he designated a

place for the w"vn -
= NY991 120 N7 121992 IN 101982 2 TYYN ONN NINPT

For that mawn» states, the he designates the place of the ¥"v» in the north or in the
south of the pile of figs, which (this 2P ny~2p) is considered like separating it -

- (6ﬂ1"n 1YY VIPY 2INPT) Cn prs nnTn) RNADINA 129N TI 999N ‘mwnvn )°2 NV 29939
For that 71wn is discussing a case where it was MWnw:? 1°2 Naw 37 as it states in

the Xneown (and 21977 1Y WIP) -
- HNNTH IR DAVN NAYN PODT BYPN 1Y 1aPY 9199 SN 9

! According to *"w, right now he can be 99m» the w"v» on money which he has, by merely saying that the nine a1
of w"yn in this barrel shall be exchanged for money in my house, and later he need only separate 72170 (two 1°21?)
and wyn (ten 127), but he need not separate w"vn since he was already 72nn the w"vn on money (which is now w"yn
money).

%>\ is produce which was bought from an 77X o, where we are uncertain whether he was 9w¥» or not. The 2"an
obligate us to be wyn w191 from *Xn7.

A" 1" RnT.

* It seems that Moo maintains that both the cases of 2°M> and *Xn7 is on "7 w"y. However 121 7"72 °"wA (on the
'} T1Y) learns that it was on a weekday, and he had no (2°117v) 0°93 in which to place the n"yn.

S,

® The “"wan deletes what is in the parenthesis and inserts instead 'w7p X2 7791 In our XnooIn it states neither;
rather it states W97 R2Y MW N2W 2792 0201571 11 1 1i12n, indicating that we are discussing either w";°2 or naw.

" Once we are 0pn ¥21p it is considered as if we were w91, and therefore one can be Yorn. However if there was no
P NMvap, just words alone, it is not considered a w1577 and there can be no 772’11 since we do not have a defined
w"vn. See ‘Thinking it over’ # 2..

¥ One may not be "1 w*15n on N2w and even on w"°2, except for *Xn7 which we can be w*19n during w"7"2.
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So therefore by s8»7, since it is ¥"7"2 he can designate a place for the mawyn, for
the rule is that when it is questionable whether it is night, we may tithe the S827 -
- 129972 IN 13IDXA 53W AWM DIMA 533 SINP KXY 7o N 90 BIMHa Yan
However by zomin 1 1 npon it is certainly not 2w wn, so therefore the
Xn»12/m1wn by 2°n12 does not state that the w''y» is in the north or south -
- INIT 22D NINPTI MYNN Y 5N 1) MNP N
And it also does not state and he exchanges it for money, because since there is a

TWyYn 211 KT, one may not separate it or be 2911 it even w"3; therefor >m°m1 cannot mean 5911
as *"w explained it.

In summation; there are two parts to the Xn>72/71wn: in the X" we are discussing 0°n1> where the
TWY? 2vn is certain, and in the X9°0 we are discussing *Xn7 where the Wy 2111 is poon. Therefore
in the X9°0 regarding °Xn7 where we are permitted to be w"7°2 qwyn, the XN12/71wn states 7119¥2
151, and it also states Myni 9y 99maY; however in the X regarding 0°m> where we cannot be Wy
v"7°2 the m1wn does not state 121 7319%2, so since there is no 2P» My ap there can be no 717 m.

mooIn offers his interpretation of ">rony":
= 9051 1WIN9 NI NON

Rather, ">r>' means he begins to drink -
- %793 91519 1195 YN B 19939 WY 1199 IN
Or as the n''1 explained it that »r>% should be read like %19 with a X''77 (instead
ofa'n) -
= Mxyws) 0992 DINM INRAD 119 MY DI 29¥1I VIO
Meaning, he mixes it with water and dilutes it, as is written ‘Your drink is
diluted (»12) with water’
= NNADINA NPT VI NPYUNRI 9VU¥N 1Y»I9 NaY 9NN
And after naw they separate 2''y» and @''v» as it states in the Xnsen -
- Paanx 0INAN YYD DNYINN DINAN NIVY
Ten that come after them (after 7217n) are 7"v», nine that come after them
(7"vyn) are w"vn -
379129 Y20 AMY TN AYI9N XY AMY 120 BN BP0 19 911359 9199 199RY 11997

? See "1 71"7 '0In on the '} Ty that 0°N13 are not w1 even 1MAN (when they sell it).

10 The letters ¥"nax [which are guttural (77371)] are interchangeable.

95 proo.

2 mpown proof is that just as the 2"y 7N are separated after naw (the 1"v» after the AmN as it states D7 NX)
which >"w1 agrees to; the same thing is regarding the w"yn that it too is 07°NX after we separate the 2"v», but not
before. See ‘Thinking it over’ # 1.

"> We are now discussing specifically the w"y» (which according to *"w1 he does not need to be w9 later since he
was already 7911 it), therefore if he will now drink the wine without w"v» nw997 later, it will turn out that he drank
Sav, since the 917’11 was not effective for there was no 2n My»ap so there can be no 719°11 (see footnote # 7).
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For since he cannot designate a place for it, if he would drink without w257
he would retroactively be drinking »au.

Summary
According to *"wn the word " means he can exchange the w"yn wine for

money, and according to M»oIN he cannot do it on w"7°2 (since it is 22V °XTY), rather
5r°m) mean either he begins to drink or he dilutes the wine.

Thinking it over

1. m1oIn proves from the XNo0IN that the w"vn is separated after naw just like the
2"y 90 since it says o7nR.'* Why did not mson bring proof from our
XN»72/mawn, which states, "W Wwvn Aywn 191 7IWY 101 W90 1NV CIRY PR ' N

2. mvoIn makes an issue that by *Xn7 it states 771772 X 7119X¥2, however by 2°n1 it
does not state 7172 W 0% (for this is Pod and this is *X7).'° However there
seems to be a simple explanation for this difference, for the 7wn of *Xn7T is
discussing (a pile of) figs (which is stationary), so therefore one can designate a
place "2 nnoxa, however here by 2°m> we are discussing wine, so one cannot
designate a place, for the wine will get mixed up; it is not stationary!'’

14 See footnote # 12.

15 See mp1on 17 2,71 X9 MPOIN and TMHNT WO XN # 36.
16 See footnote # 7.

17 See apy> naxon.
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